
　中３　システム英単語　１学期　⑥解答 1086-1110

次の（　　　　　）にあてはまる語を右の語群より選んで書きなさい。

① become a (               ) on society　社会の重荷になる ① ( burden )

② the science (               )　理学部 ② ( faculty )

③ have a quick (               )　すぐかっとなる気性である ③ ( temper )

④ carry a heavy (               )　重い荷物を運ぶ ④ ( load )

⑤ a private (               )　民間企業 ⑤ ( enterprise )

⑥ have no (               ) in history　歴史上匹敵するものがない ⑥ ( parallel )

⑦ a knife (               )　ナイフの傷 ⑦ ( wound )

⑧ put a (               ) on the heart　心臓に負担をかける ⑧ ( strain )

⑨ according to official (               )　公式の統計によると ⑨ ( statistics )

⑩ an increase in the (               ) rate　離婚率の増加 ⑩ ( divorce )


